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1.   16

2.   5

3.   10

4.   7

5.   17

6.   9

7.   12

8.   8 

9.   2

10. 3

11. 20

12. 19

13. 6

14. 11

15. None

All found in the glossary.
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2. 1st normal form.  Can't say everything depends on the key because we do not know what the key is. So 2nd normal form does not make sense.

3. Yes → property ID

4. Yes → County_Name, Lot Number

5. Given point for insertion/deletion anomalies.  Must give explicit modification anomaly to get second point.  

6. SECOND Normal Form:

PID | County_Name| Lot # | Area | Price 

County_Name | Tax_Rate

THIRD Normal Form:

PID | County_Name| Lot # | Area 

Area | Price  

County_Name | Tax_Rate
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1. Engineer is a subtype or parent-child

2. Engineer-certification

3. Looking for:  Every truck must be assigned to an engineer but not every engineer must be assigned to a truck.  

4. Engineer provides service to a client

5. Yes → N:M relationship.

6. No  Engineer certification is not required – Known because of the oval

7. Every service has an associated fee

8.  0 → optional  1 → required.  Engineer doesn't have to perform a service.  But service must be performed by an engineer.  
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1. SELECT Salary FROM SALESPERSON

2. SELECT Name FROM SALESPERSON

WHERE PrecentOfQuota BETWEEN 50 AND 59

3. SELECT Count(*) FROM ORDER

4. SELECT AVG(PercentOfQuota) FROM SALESPERSON

